SAP ABAP table /RPM/OPTION CUST {Option Customer Attributes}

_RPM_QGRP_CUST
CLIENT [CLNT (3)]

/RPM/OPTION_CUST-QSTGRP_ID = /RPM/QGRP_CUST-QSTGRP_ID gy |QNNR_ID [CHAR (15)]
-7 QSTGRP_ID [CHAR (15)]

-7 _RPM_QNNR_CUST

) /RPM/OPTION CUST-QNNR ID = /RPM/QNNR CUST-QNNR ID CLIENT [CLNT (3)]

_ _ /RPM/OPTION_CUST-QUESTION ID = /RPM/QSTN CUST-QUESTION ID 0-N'[QNNR_ID [CHAR (15)]

. OBJECT_TYPE [CHAR (15)]

R _RPM_QSTN_CUST

=~ - __ [CLENT [CINT (3)]

QNNR_ID [CHAR (15)]

QSTGRP_ID [CHAR (15)]

QUESTION_ID [CHAR (15)]




